[pb/GeV]

Ratio to ATLAS

d mmumLpdy

mumu

<
=

1072

[EEY

0.5

8000 GeV pp
BN

- y'(116 < m < 150 GeV) 7

Z (Drell-Yan)
N I L N B B B

] L S I . : S S . . 1
3----- EF---- Et----83----3----- CF----82 ‘--E.. !
A Y . ..‘.‘
: B ATLAS _|
— --3-- Herwig 7.2.1 default ol
- \\’ —
e ¢ Sherpa 2.2.9 default |
| | | | | | 1 | | | | | | | | | | | | 4+ | | | | | |
:l T T T T | T T T T | T T T T | T T T T | T T T I:
@ @ ... @ Y S @ R @ N ¢ —
B RS S

Rivet 3.1.10, = 2.8M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


